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Section : Technical_Electrical Engineering 

 

Question ID : 8970322835 

Status : Answered 

Chosen Option : 4 

 

 

 

 

Q.2 In which topology are multiple nodes connected to a central component? Question ID : 8970322848 

Status : Answered 

Chosen Option : 4 
Ans A. Bus topology 

B. Star topology 

C. Ring topology 

D. Tree topology 

 Question ID : 8970322853 

Status : Answered 

Chosen Option : 2  
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Question ID : 8970322813 

Status : Answered 

Chosen Option : 3 

Q.6 Which of the following losses are found only in the wound rotor induction motors?  
 
 
 
 
 
 
 
 

 
Question ID : 8970322834 

Status : Answered 

Chosen Option : 2 

Ans A. Brush contact losses 

B. Rotor ohmic losses 

C. Stray load losses 

D. Stator ohmic losses 

 

 
 
 
 
 
 
 
 
 

 
Question ID : 8970322828 

Status : Answered 

Chosen Option : 1 

Q.8 For which of the following instructions are 9-bits involved in the rotation?  
 
 
 
 
 
 
 
 

 
Question ID : 8970322844 

Status : Not Answered 

Chosen Option : -- 

Ans A. RR A 

B. RL A 

C. RRC A 

D. SWAP A 

  
 
 
 
 
 
 
 
 

 
Question ID : 8970322843 

Status : Answered 

Chosen Option : 2 
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Question ID : 8970322831 

Status : Answered 

Chosen Option : 2 

Q.11 Which of the following statements is NOT correct for a squirrel-cage induction motor? 

Ans  A. It is highly reliable 

B. It has variable rotor resistance 

C. It is maintenance free 

D. It has simplest construction 

 
 
 
 
 
 
 
 
 

 
Question ID : 8970322915 

Status : Answered 

Chosen Option : 2 

Q.12 In a long or medium transmission line, the phenomenon causing receiving end voltage to be 
greater than sending end voltage under no load condition is called: 

Ans  A. skin effect 

B. Corona effect 

C. loading effect 

D. Ferranti effect 

 
Question ID : 8970322875 

Status : Answered 

Chosen Option : 4 

Q.13 The irregularity factor for polished wires is:   
 
 
 
 
 
 
 
 

 
Question ID : 8970322877 

Status : Answered 

Chosen Option : 2 

Ans A. 0.83 to 0.87 

 B. 0.93 to 0.98 

 C. 0.80 to 0.85 

D. 1 

Q.14    
 
 
 
 
 
 
 
 
 
 
 

Question ID : 8970322949 

Status : Answered 

Chosen Option : 3 

  www.exammix.com 

Ans A.  

 B.  

 C.  

 D.  

Q.15 
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Question ID : 8970322896 

Status : Answered 

Chosen Option : 4 

Q.16 Which of the following type of tariff is three-part tariff? 

Ans  A. Flat demand rate 

B. Hopkinson demand rate 

C. Doherty rate 

D. Step meter rate 

 
Question ID : 8970322870 

Status : Answered 

Chosen Option : 3 

 
Question ID : 8970322867 

Status : Answered 

Chosen Option : 3 

Q.18 Which of the following instruments used for maintenance can measure voltage, current, 
continuity and resistance? 

Ans  A. Multimeter 

B. Megger 

C. Function generator 

D. CRO 

 
Question ID : 8970322826 

Status : Answered 

Chosen Option : 1 

Q.19 
 

 
Ans  A. 61 mA 

B. 30.5 mA 

C. 19.4 mA 

D. 38.8 mA 
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Question ID : 8970322908 

Status : Answered 

Chosen Option : 2 

Question ID : 
8970322819 

Status : Not Answered 

Chosen Option : -- 

Question ID : 8970322854 

Status : Answered 

Chosen Option : 3 

 
Question ID : 8970322923 

Status : Answered 

Chosen Option : 3 

Q.23 

Ans  A. assumed lumped at the sending end 

B. assumed lumped at the receiving end 

C. assumed lumped at the midpoint 

D. divided into two halves 

 
Question ID : 8970322874 

Status : Answered 

Chosen Option : 4 

Q.24 Which of the following capacitors has the lowest value of leakage resistance? 

Ans A. Paper capacitor 

B. Electrolytic capacitor 

C. Ceramic capacitor 

D. Mica capacitor 

 
Question ID : 8970322947 

Status : Answered 

Chosen Option : 3 
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Ans  A. 30 kV/cm 

B. 60 kV/cm 

C. 100 kV/cm 

D. 150 kV/cm 

 
Question ID : 8970322935 

Status : Answered 

Chosen Option : 1 

Question ID : 8970322825 

Status : Answered 

Chosen Option : 1 

Q.27 If a RED/GREEN multi-colour LED is switched fast enough between two polarities, it will 
produce _________ colour. 

Ans  A. green 

B. orange 

C. red 

D. yellow 

 
Question ID : 8970322907 

Status : Answered 

Chosen Option : 4 

Q.28 In a PLC, which of the following is NOT a subpart of Central Processing Unit (CPU)? 

Ans A. Programmer 

B. Microprocessor 

C. Memory 

D. Power supply 

 
Question ID : 8970322842 

Status : Answered 

Chosen Option : 4 

 
Question ID : 8970322933 

Status : Answered 

Chosen Option : 1 

Q.30 In case of two-port networks, which parameters are called transmission parameters? 

Ans A. ABCD parameters 

B. y-parameters 

C. z-parameters 

D. h-parameters 
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Question ID : 8970322905 

Status : Answered 

Chosen Option : 1 

Q.31 Which of the following is NOT a fossil fuel? 

Ans A. Coal 

B. Oil 

C. Wood 

D. Natural gas 

 
Question ID : 8970322861 

Status : Answered 

Chosen Option : 3 

Q.32 1 torr = _________ 

Ans A. Hg का 1 inch ( 1 inch of Hg) 

B. 133 Pa 

C. 1 bar 

D. 14.6 psi 

 
Question ID : 8970322944 

Status : Answered 

Chosen Option : 4 

 
Question ID : 8970322829 

Status : Answered 

Chosen Option : 2 

 
Question ID : 8970322801 

Status : Answered 

Chosen Option : 1 

Q.35 In a hexadecimal system the radix is: 

Ans  A. 15 

B. 1 

C. 8 

D. 16 

 
Question ID : 8970322922 

Status : Answered 

Chosen Option : 4 
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Question ID : 8970322814 

Status : Answered 

Chosen Option : 1 

 
Question ID : 8970322926 

Status : Answered 

Chosen Option : 2 

 
Question ID : 8970322929 

Status : Not Answered 

Chosen Option : -- 

Q.39 Multi-stack variable reluctance stepper motors are widely used to obtain step sizes in the 
range of _______ _. 

Ans  A. 2° to 15° 

B. 45° to 60° 

C. 15° to 30° 

D. 25° to 45° 

 
Question ID : 8970322838 

Status : Answered 

Chosen Option : 4 

 
Question ID : 8970322882 

Status : Answered 

Chosen Option : 1 

. 
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C. 

D. 

 
Question ID : 8970322856 

Status : Answered 

Chosen Option : 1 

Question ID : 8970322833 

Status : Answered 

Chosen Option : 3 

Question ID : 8970322841 

Status : Answered 

Chosen Option : 1 

Q 
Question ID : 8970322919 

Status : Answered 

Chosen Option : 1 

 
Question ID : 8970322840 

Status : Answered 

Chosen Option : 3 

Q.46 Which of the following is an iron ore? Ans 

A. Gypsum 

B. Galone 

C. Cryolite 

D. Cinnabar 

 
Question ID : 8970322939 
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Q.47 The presence of carbon as an impurity in ferromagnetic material decreases: 

Ans  A. coercive force 

B. resistivity 

C. permeability 

D. retentivity 
                                                                                                                                                  Question ID : 8970322932 

Status : Answered 

Chosen Option : 3 

 
Question ID : 8970322865 

Status : Answered 

Chosen Option : 3 

Q.49 

Ans  A. बजर 

B. हॉन’ 

C. लाइट नग अरˇ टर 

D. पॉवर स कट  ेकर 

 
Question ID : 8970322894 

Status : Answered 

Chosen Option : 4 

 
Question ID : 8970322897 

Status : Answered 

Chosen Option : 1 

Question ID : 8970322942 

Status : Answered 

Chosen Option : 4 

Q.52 A 4-pole wave wound armature has 720 conductors and is rotated at 1000 rpm. If the useful 
flux is 20 mWb, calculate the generated voltage. 

Ans  A. 480 V 
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B. 960 V 

C. 360 V 

D. 240 V 

 
Question ID : 8970322920 

Status : Answered 

Chosen Option : 1 

Q.53 Which of the following is NOT a characteristic of an unexcited single phase synchronous 
motor? 

Ans  A. Operates from a single phase ac supply 

B. Requires DC excitation for the rotor 

C. Self-starting 

D. Runs at constant speed 

 
Question ID : 8970322832 

Status : Answered 

Chosen Option : 3 

 
Question ID : 8970322878 

Status : Answered 

Chosen Option : 2 

Q.55 In case of circuit breakers, the rate of rise of restriking voltage (RRRV) is expressed in: 

Ans A. KV/µs 

B. 

C. kV 

D. kA/µs 

 
Question ID : 8970322851 

Status : Answered 

Chosen Option : 1 

 
Question ID : 8970322863 

Status : Answered 

Chosen Option : 4 
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Question ID : 8970322860 

Status : Answered 

Chosen Option : 3 

 
Question ID : 8970322820 

Status : Not Answered 

Chosen Option : -- 

Question ID : 8970322881 

Status : Answered 

Chosen Option : 2 

 
Question ID : 8970322883 

Status : Answered 

Chosen Option : 3 

Q.61 A 4-pole d.c. generator runs at 750 rpm. and generates an emf. of 240 V. The armature is 
wave-wound and has 792 conductors. If the total flux from each pole is 0.0145 Wb, what is 
the leakage coefficient? 

Ans  A. 1.6 

B. 1.8 

C. 1.5 

D. 1.2 

 
Question ID : 8970322839 

Status : Answered 

Chosen Option : 4 

Q.62 

Ans  A. 

B. 

C. 

D. 

 
Question ID : 8970322902 

Status : Answered 

Chosen Option : 1 
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Q.63 A thermometer is calibrated from 150°C to 300°C. The accuracy is specified as ± 0.2% of span. 
What is the maximum static error? 

Ans  A. ± 0.6 °C 

B. ± 0.3 °C 

C. ± 0.03 °C 

D. ± 0.06 °C 

 
Question ID : 8970322948 

Status : Answered 

Chosen Option : 2 

Q.64 Which of the following is static relay? Ans 

A. Mho relay 

B. Transistor relay 

C. Thermal relay 

D. Induction-cup relay 

 
Question ID : 8970322852 

Status : Answered 

Chosen Option : 2 

 
Question ID : 8970322805 

Status : Answered 

Chosen Option : 2 

 
Question ID : 8970322811 

Status : Answered 

Chosen Option : 3 

Question ID : 8970322925 

Status : Answered 

Chosen Option : 1 
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Question ID : 8970322885 

Status : Answered 

Chosen Option : 4 

Q.69 Which of the following is the preferred protection for ground fault? 

Ans A. Plain impedance relay 

B. Directional relay 

C. Reactance relay 

D. Overcurrent relay 

 
Question ID : 8970322858 

Status : Answered 

Chosen Option : 3 

Q.70 Which of the following is NOT a coolant used for fast breeder reactor? 

Ans A. Carbon Dioxide 

B. Oxygen 

C. Liquid metal 

D. Helium 

 
Question ID : 8970322888 

Status : Answered 

Chosen Option : 2 

 
Question ID : 8970322827 

Status : Answered 

Chosen Option : 4 

Q.72 

Ans  A. 3-फ  ज, 3-वायर, िेज़गज़ैग, ेाउं ड ड 

B. 3-फ  ज, 3-वायर, ड  टा 

C. 3-फ  ज, 3-वायर, िेज़गज़ैग 

D. 3-फ  ज, 3-वायर, टार 

 
Question ID : 8970322895 

Status : Answered 

Chosen Option : 4 

 
Question ID : 8970322943 

Status : Answered 

Chosen Option : 4 
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Question ID : 8970322879 

Status : Answered 

Chosen Option : 1 

Q.75 When two conductors have to be joined, _____________ is used. 

Ans  A. suspension clamp 

B. jointing sleeve 

C. binding wire 

D. tension clamp 

 
Question ID : 8970322815 

Status : Answered 

Chosen Option : 3 

Q.76 In alternators, the distribution factor for the given number of phases is dependent only on the: 

Ans  A. number of turns per coil 

B. supply voltage 

C. number of distributed slots under a given pole 

D. type of the windings 

 
Question ID : 8970322918 

Status : Answered 

Chosen Option : 4 

Q.77 Which of the following media access methods works on first come first served basis? 

Ans A. Token passing 

B. CSMA/CD 

C. CSMA/BA 

D. Master slave 

 
Question ID : 8970322849 

Status : Answered 

Chosen Option : 1 

 

 
Question ID : 8970322808 

Status : Answered 

Chosen Option : 3 

Q.79 Which of the following is the correct sequence for heat transfer to water in a generator? 

Ans A. Economiser, Evaporator, Superheater 

B. Superheater, Economiser, Evaporator 
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C. Economiser, Superheater, Evaporator 

D. Evaporator , Superheater, Economiser 

 
Question ID : 8970322806 

Status : Answered 

Chosen Option : 3 

Question ID : 8970322893 

Status : Answered 

Chosen Option : 4 

 
Question ID : 8970322938 

Status : Answered 

Chosen Option : 4 

Question ID : 8970322928 

Status : Answered 

Chosen Option : 1 

Q.83 In flowchart representation, which of the following symbols indicates input/output? 

Ans A. Oval 

B. Parallelogram 

C. Diamond 

D. Rectangle 

 
Question ID : 8970322845 

Status : Answered 

Chosen Option : 1 

Q.84 In a steam power plant, the working fluid is: 

Ans  A. oil 

B. water 

C. diesel 

D. natural gas 

 
Question ID : 8970322803 

Status : Answered 
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Chosen Option : 2 

Q.85 What will be the value of slip during the braking region of induction motor characteristic? 

Ans A. Between 0.5 and 1 

B. Between 0 and 1 

C. Between 2 and 1 

D. Between 0 and (-1) 

 
Question ID : 8970322914 

Status : Answered 

Chosen Option : 3 

 
Question ID : 8970322889 

Status : Answered 

Chosen Option : 3 

Q.87 

Ans  A. 2 V, 1 mA 

B. 4 V, 1 mA 

C. 8 V, 1 mA 

D. 6 V, 1 mA 

 
Question ID : 8970322909 

Status : Answered 

Chosen Option : 4 

Q.88 In OSI model accounting, addressing and routing functions of the system are provided by: 

Ans A. application layer 

B. network layer 

C. transport layer 

D. physical layer 

 
Question ID : 8970322850 

Status : Answered 

Chosen Option : 2 

 
Question ID : 8970322807 

Status : Answered 

Chosen Option : 1 
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Question ID : 8970322903 

Status : Answered 

Chosen Option : 2 

 
Question ID : 8970322945 

Status : Answered 

Chosen Option : 4 

 
Question ID : 8970322936 

Status : Answered 

Chosen Option : 4 

Q.93 Thermopile is a: 

Ans  A. series connection of thermistors 

B. series connection of RTDs 

C. parallel connection of thermocouples 

D. series connection of thermocouples 

 
Question ID : 8970322941 

Status : Answered 

Chosen Option : 3 

Q.94 A 3-phase semi-converter works as a six-pulse converter when the firing angle a is: 

Ans A. between 60° to 120° 

B. between 0° to 60° 

C. between 90° to 150° 

D. between 120° to 180° 

 
Question ID : 8970322904 

Status : Answered 

Chosen Option : 4 

Question ID : 8970322846 

Status : Answered 
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Chosen Option : 2 

Q.96 Which of the following CANNOT be covered under the head of initial cost of power plant? 

Ans A. Equipment cost 

B. Maintenance cost 

C. Land cost 

D. Building cost 

 
Question ID : 8970322802 

Status : Answered 

Chosen Option : 2 

Q.97 A resistor is colour coded with blue, grey, orange and silver bands. Find the value. Ans 

A. 

B. 

C. 

D. 

 
Question ID : 8970322946 

Status : Answered 

Chosen Option : 1 

Q.98 Simplification of the Boolean expression Y = AB + ABC + ABC’ is: 

Ans  A. Y = ABC 

B. Y = AB 

C. Y = AB + BC 

D. Y = BC 

 
Question ID : 8970322930 

Status : Answered 

Chosen Option : 2 

Q.99 कॉ=5ट टन कसका एक ि मC धातु है? 

Ans  A. लै टनम और रो डयम 

B. कॉपर और नकल 

C. कॉपर और टन 

D. चांद और सोना 

 
Question ID : 8970322937 

Status : Answered 

Chosen Option : 3 

Q.100 Which of the following is INCORRECT regarding the classification of substations on the 
basis of operating voltage? 

Ans  A. Ultra-low voltage substation 

B. Ultra-high voltage substation 

C. High voltage substation 

D. Extra-high voltage substation 

 
Question ID : 8970322823 

Status : Answered 

Chosen Option : 1 
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Question ID : 8970322824 

Status : Answered 

Chosen Option : 3 

Q.102 A power plant has load factor of 0.75, capacity factor of 0.60 and use factor of 0.65. Find 
the reserve capacity over and above the peak load if the maximum demand is 60 MW. 

Ans  A. 75 MW 

B. 45 MW 

C. 15 MW 

D. 60 MW                       Question ID : 8970322890 

Status : Answered 

Chosen Option : 1 

Q.103 The insulation resistance test is performed using a/an: 

Ans  A. ammeter 

B. megger 

C. galvanometer 

D. voltmeter 

 
Question ID : 8970322822 

Status : Answered 

Chosen Option : 2 

Q.104 In industrial communication, DTE stands for: 

Ans  A. Data Terminal Equipment 

B. Digital Transmission Error 

C. Data Transmission Equipment 

D. Data Transmission Error 

 
Question ID : 8970322847 

Status : Answered 

Chosen Option : 4 

Q.105 Secondary of the linear induction motor consists of a: 

Ans  A. flat aluminium conductor with a ferromagnetic core 

B. flat copper conductor with a ferromagnetic core 

C. flat copper conductor 

D. flat iron conductor 

 
Question ID : 8970322837 

Status : Answered 

Chosen Option : 2 

 
Question ID : 8970322873 

Status : Answered 
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Chosen Option : 2 

Question ID : 8970322880 

Status : Answered 

Chosen Option : 2 

Q.108 The formation of small and stable bubbles throughout the boiler water is called: 

Ans A. bagging 

B. priming 

C. foaming 

D. carryover 

 
Question ID : 8970322886 

Status : Answered 

Chosen Option : 3 

Q.109 

Ans  A. 

B. 

C. 

D. 

 
Question ID : 8970322924 

Status : Answered 

Chosen Option : 3 

Q.110 Which of the following is a valid disadvantage of Sulphur Hexafluoride circuit breaker? 

Ans A. High maintenance 

B. Operation is noisy 

C. Arced gas is poisonous 

D. Gas is flammable 

 
Question ID : 8970322855 

Status : Answered 

Chosen Option : 1 

Q.111 Which one of the following is NOT a characteristic of a DC series motor? 

Ans A. No load speed is dangerously high 

B. Armature current = field current 

C. No load speed is zero 

D. Main flux is directly proportional to armature current 

 
Question ID : 8970322912 

Status : Answered 

Chosen Option : 3 
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B. 0.1 

C. 0.4 

D. 0.6 

 
Question ID : 8970322869 

Status : Answered 

Chosen Option : 3 

Q.113 Identify the renewable source of energy from the given options. 

Ans A. Sun 

B. Fossil Fuels 

C. Nuclear fuels 

D. Wood 

 
Question ID : 8970322862 

Status : Answered 

Chosen Option : 1 

Q.114 Pin insulators can never be used above: 

Ans  A. 22 kV 

B. 11 kV 

C. 33 kV 

D. 6.6 kV 

 
Question ID : 8970322816 

Status : Answered 

Chosen Option : 3 

 
Question ID : 8970322934 

Status : Answered 

Chosen Option : 1 

Q.116 Eddy current losses in the transformer are: 

Ans  A. directly proportional to the frequency squared 

B. inversely proportional to the thickness of the lamination 

C. inversely proportional to the field strength 

D. inversely proportional to the frequency 

 
Question ID : 8970322916 

Status : Answered 

Chosen Option : 1 

Q.117 An 11 kV, 500 MVA circuit breaker suddenly closes on to a fault. Find rms value of the 
symmetrical breaking current. 

Ans  A. 32.24 kA 

B. 45.45 kA 

C. 26.24 kA 

D. 52.48 kA 

 
Question ID : 8970322859 
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Status : Answered 

Chosen Option : 3 

Q.118 In distribution systems, the conductors which connect the sub-station to the distributors are 
called ______ _. 

Ans  A. boosters 

B. substation 

C. feeders 

D. service mains 

 
Question ID : 8970322872 

Status : Answered 

Chosen Option : 3 

Q.119 A power plant with 80 MW capacity has a peak load of 60 MW. Loads with maximum 
demands of 30 MW, 20 MW, 10 MW and 15 MW are connected to the plant. Find the 
diversity factor. 

Ans  A. 0.8 

B. 1.33 

C. 1.25 

D. 0.75 

 
Question ID : 8970322809 

Status : Answered 

Chosen Option : 3 

Q.120 If we group four 1’s from the adjacent cells of a K-map, then the group is called: 

Ans A. quad 

B. byte 

C. nibble 

D. word 

 
Question ID : 8970322927 

Status : Answered 

Chosen Option : 1 

 
Question ID : 8970322830 

Status : Answered 

Chosen Option : 4 

 
Question ID : 8970322804 

Status : Answered 

Chosen Option : 3 

Q.123 For achieving grading, the ratio between major and minor fuses shall be _______ or more. 
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Ans  A. 

B. 

C. 

D. 

 
Question ID : 8970322900 

Status : Answered 

Chosen Option : 2 

 
Question ID : 8970322868 

Status : Answered 

Chosen Option : 1 

Q.125 A bipolar DC line has ______ conductor(s). 

Ans  A. three 

B. one 

C. four 

D. two 

 
Question ID : 8970322871 

Status : Answered 

Chosen Option : 4 

Q.126 The inverse-square law correlates Illumination of the surface (E), luminous intensity (I) and 
the distance between the source and the surface to be illuminated (r) by the formula: 

Ans  A. 

B. 

C. 

D. 

 
Question ID : 8970322818 

Status : Answered 

Chosen Option : 3 

Q.127 Which of the following statements is INCORRECT for a polyphase induction motor? 

Ans A. It is also called asynchronous machine 

B. Stator winding is directly connected to the a.c. source 

C. It is a singly excited a.c. machine 

D. Rotor winding is directly connected to the a.c. source 

 
Question ID : 8970322836 

Status : Answered 

Chosen Option : 4 

Q.128 In case of overhead lines, the sag of the conductor is: 

Ans  A. directly proportional to the length of the span squared 

B. directly proportional to the tension at the lowest point 

C. inversely proportional to the weight of the conductor per unit length 

D. directly proportional to the length of the span 
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Status : Answered 
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Q.129 As per the standard electrical designing, the recommended schedule for 5 A and 15 A 
socket outlet for dining room is: 

Ans  A. 2 and 1 respectively 

B. 3 and 2 respectively 

C. 2 and 2 respectively 

D. 1 and 1 respectively 
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Chosen Option : 3 

Q.131 In a 3-wire DC transmission system, if the potential difference is 460 V, then the potential 
difference of positive outer above the neutral will be: 

Ans  A. 230 V 

B. 115 V 

C. -115 V 

D. 460 V 

 
Question ID : 8970322810 

Status : Answered 

Chosen Option : 1 

Q.132 बाइनरी नंबर ि स5टम म , नबल का मतलब कतना होता है? 

Ans A. 8 bits 

B. 4 bits 

C. 16 bits 

D. 1 bit 
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Status : Answered 

Chosen Option : 2 

Q.133 Under the Indian Electricity Rules, the maximum permissible frequency fluctuation is: 

Ans A. ± 10 % of the declared frequency 

B. ± 1 % of the declared frequency 

C. ± 5 % of the declared frequency 

D. ± 2 % of the declared frequency 

 
Question ID : 8970322812 
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Chosen Option : 4 
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Status : Answered 
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Q.135 The voltage level used in the high-tension cables to transmit power is: 

Ans  A. between 66 kV and 132 kV 

B. up to 1000 V 

C. up to 23,000 V 

D. between 33 kV and 66 kV 
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Status : Answered 
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Q.136 Use of light colours on walls reduces the lighting requirements by up to ________ _. 

Ans  A. 10 per cent 

B. 40 per cent 

C. 80 per cent 

D. 20 per cent 
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Q.138 The voltage gain of the common collector configuration of a transistor is: 

Ans  A. 10 

B. 100 

C. less than 1 

D. 500 

 
Question ID : 8970322901 
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Chosen Option : 4 

Q.139 Which of the following types of loss occurs only in wound rotor induction motors? 

Ans A. Stray load loss 

B. Brush contact loss 

C. Stator ohmic loss 

D. Rotor ohmic loss 
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Q.140 Which of the following impurities causes temporary hardness in feed water? 

Ans A. Bicarbonates 

B. Sulphates 

C. Nitrates 

D. Chlorides 
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Q.142 A 0 – 10 A ammeter has a guaranteed accuracy of 1 per cent of full scale deflection. What 
will be the limiting error in the reading of 2.5 A? 

Ans  A. 1 per cent 

B. 4 per cent 

C. 2 per cent 

D. 3 per cent 
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Q.143 Which of the following characteristics of a DC generator is called regulation curve? 

Ans A. Load characteristic 

B. External characteristic 

C. Armature characteristic 

D. No-load characteristic 
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Q.144 Internal wiring installations should be inspected: 

Ans  A. once a year 

B. once in 5 years 

C. once in 3 years 

D. once in 2 years 
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Q.146 Which of the following is a disadvantage of a hybrid stepper motor as compared to a 
variable reluctance stepper motor? 

Ans  A. Greater torque per unit volume 

B. High inertia 

C. Less tendency to resonate 

D. Small step length 
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Q.147 

Ans  A. 

B. 

C. 

D. 
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Q.149 The minimum thickness of a bakelite sheet for flush mounting is: 

Ans  A. 1 mm 

B. 2 mm 

C. 4 mm 

D. 3 mm 
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Q.4 ______ is a term used for expressing GDP after adjusting for environmental degradations. 

Ans  A. Green GDP 

B. Blue GDP 

C. Grey GDP 

D. White GDP 
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Q.6 _______ is a term coined by His Majesty the Fourth King of Bhutan, Jigme Singye Wangchuck 
in the 1970s. 

Ans  A. Human Development Index 

B. Gross National Happiness 

C. Gender Inequality Index 

D. Green GDP 
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Q.15 According to computer terminology: 
1 terabyte = 1024 ____ _. 

Ans  A. terabytes 

B. gigabytes 

C. kilobytes 

D. megabytes 
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